VERIFICA DI MATEMATICA: CALCOLO
1. Esegui in riga
	30 + 8 = …………
21 + 4 = …………..
34 + 5 = ………….
11 + 7 = ………….
21 + 1 da = …………
35 + 5 = …………..
23 + 7 = ………….
	18 – 6 = …………..
36 – 5 = ………………
19 – 9 = …………..
20 – 8 = ………….
30 – 1 da = ………….
50 – 2 da = …………..
24 – 3 u = …………….



2. Esegui con tappa alla decina
	    15 + 8 = ………..

     …… +  ……
	    25 - 7 = ………..

     …… +  ……

	    27 + 7 = ………..

     …… +  ……
	    32 - 4 = ………..

     …… +  ……

	    35 + 6 = ………..

     …… +  ……
	    44 - 9 = ………..

     …… +  ……

	    26 + 9 = ………..

     …… +  ……
	    23 - 8 = ………..

     …… +  ……



